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NMT:Encoder-Architecture:Decoder

* Qutput:

Decoder

» word sequence (target) y = (v, -, y71)

* Decoder Transition:
* St = RNNyec (St-1) Ye-1,€)

* Conditional recurrent language model
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NMT:Detailed:Encoder-Decoder:

Decoder:Graph(step-3)

(ef process_encoding_input(target data, wordZint, batch size):
ending = tf.strided slice(target data, [0, 8], [batch size, -1], [1, 1])

decoding_tnput = tf,concat([tf. FLL([batch size, 1],[{word2int[ TOKEN C0']),

return decoding input

ending], 1)
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NMT:Detalled:Encoder-Decoder:Decoder:Graph(step-4)

decoding input = process encoding input(target en data, wordZint en, batch size)
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NMT:Detailed:Encoder-Decoder:Decoder:.Graph(step-5)

With variable_scope.variable_scope(

"decoder”, initializer=init ops.constant initializer(0.1)) as vs:

helper = TrainingHelper

inputs=decoding embed input,|s

dec = BasicDecoder(decoding cell, helper,|encoding st

logits, _, _ = dynamic_decode(dec, output_time major=False, impute_finished=True,
maximum_iterations=nax_

return logits

sequence_length=en_len, time_major=False)
op_layer )

en_len)
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NMT:Detalled(DB):Encoder-Decoder:Decoder.Graph(step-5)

with variable scope.variable scope(

“decoder”, initializer=init ops.constant initislizer(0.1)) as vs:

s Wl e o

Jec = BasicDecoder (decoding_cell, helper, encoding st, op_layer )

logits, _,

return logits
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helper = TrainingHelper(inputszaecoding_embed_input, sequence_length=en_len, time major=False) . .
with alentim.

= dynamic_decode(dec, output_time major=False, impute finished=True,

I

def next_inputs(self, time, outputs, state, name=None):

self.time=time+1
finished=False
if(self.time == self.sequence):
finished=True
if(not finished):
next_inputs=self.inputs[0:self.batch,self.time].T
else:
next_inputs=None
return (finished, next inputs, state)
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NMT: Detalled(DB) Encoder-Decoder:Decoder.Graph(step-5)

with variable_scope.variable_scope(

"decoder”, initializer=init_ops.constant initializer(0.1)) as vs:
helper = TrainingHelper (inputs=decoding embed input, sequence length=en_len, time_major=False)
dec = BasicDecoder(decoding cell, helper, encoding st, op_layer )g-l

logits, _, _ = dynanic_decode(dec, output_tUet step(sel f, tme, Enputs inttial_state, name= None)
maximum_iteratll  #print("Decoder.step. intitial_state:",initial_state,self. cell)

return logits lf(lnltlal state is None):

output,newstate = self. cell(inputs)

‘ 'C Z) Cad'e’(l else:
@m} ¢ 4 '”LQP output,newstate = self._cell(inputs,initial_state)
%U/ﬂc Lov) if (self.output_layer is not None):
output=self.output_layer(output[-1])
/‘ acce /:! Wﬁ'fb}’ else:
- /D output=output[-1]
./a/7 Ldz self.result[time]=output
nitiad Ml
(M1 tgaLj? . finished, next input, next state=self. helper.next inputs(time, output, newstate)

if self.attention is False:
next_state=None

return (output, next state, next input, finished)
A
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NMT:Detalled(DB):Encoder-Decoder:Decoder.Graph(step-5)

with variable_scope.variable_scope(

"decoder”, initializer=init_ops.constant_initializer(0.1)) as vs:
helper = TrainingHelper (inputs=decoding embed input, sequence length=en_len, time_major=False)
dec = BasicDecoder(decoding cell, helper, encoding st, op_layer )g-l

logits, _, _ = dynamic_decode(dec, output_tUQeT step(self, time, inputs, 1n1t1al state, name=None):
maximun_iterati #print("Decoder.step.initial state:",initial state,self. cell)

return logits if(initial_state is None):

output,newstate = self. cell(inputs)

‘ 'C Z) CDD&"(I else:
@m} ¢ 4 '”LQP output,newstate
%U/WC LoY) if (self.output layer is not None):
output=self.output_layer(output[-1])
g' 7;( " MQ« else:
- output=output[-1]
ﬁN/v M&?ﬁ/& self.result[time]=output
a F F mb& /),é(,U( finished, next_input, next_state=self._helper.next_inputs(time, output, newstate)
1" if self.attention is False:
'ZE y . /\Qﬂ(’ next_state=None

return (output, pext state. next input. finished)
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NMT: Detalled(DB) Encoder-Decoder:Decoder:Graph(step-5)

with variable scope.variable scope(

"decoder”, initializer=init_ops.constant initializer(0.1)) as vs:
helper = TrainingHelper (inputs=decoding embed input, sequence len

dec = BasicDecoder(decoding cell, helper, encoding st, op layer )

logits, , _

return logits
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gjr=en_len, time_major=False)

if

if(initial_state is None):

output,newstate = self. cell(inputs)

else:

get step(self, time, inputs, initial state, name=None):

output,newstate = self. cell(inputs,initial_state)

(self.output_layer is not None):
output=self.output_layer(output[-11)

else:

output=output[-1]

self.result[time]=output
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return (output, next state,

1f self. attention 1s False:

pext input, finished)
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NI\/IT:Detailed(DB):Encoder-Decoder:Decoder'Graph(step 5)

with variable_scope.variable_scope( def dynamic_decode(decoder,
"decoder”, initializer=init_ops.constant_initiali output_time major-Falsej / )7_7’&‘)(
helper = TrainingHelper(inputs=decoding embed input, impute_finished=False,
dec = BasicDecoder(decoding cell, helper, encoding st maximum_iterations=None, Wffn

ogits, , = dynamic_decode(dec, output_time major parallel iterations=32,

T ) MAXTMUM_Lterations=nax_ scope=None): 6p V.S
return logits
finished,next_inputs,initial_state=decoder.initialize()
‘ [o'nm 722, /ZO'DP time=9

next_state=initial state
’? (”7‘01 while not finished:

outputs, next_state, next_inputs, finished=decoder.step(time,next_inputs,next_state)
15( mon |

time=time+1
decoder.finalize(outputs,next_state)
; ’ return decoder.get_final_results(),next_state
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NMT: Detalled(DB) Encoder-Decoder.Decoder:Graph(step-5)

with variable_scope.variable_scope(
"decoder”, initializer=init_ops.constant initializer(0.1)) as vs:
helper = TrainingHelper(inputs=decoding embed input, sequence length=en_len, time major=False)
dec = BasicDecoder(decoding cell, helper, encoding_st, op_layer )
logits, , = dynamic_decode(dec, output_time major=False, impute finished=True,
maxinum_iterations=max_en_len)
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NMT:Detalled:Encoder-Decoder:Decoder:Graph(step-6)
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with tf.name_scope( optinizer"):

tr_cost = sequence_loss(logits_tr,targets,seq masks)
optimizer = tf.train.GradientDescentOptinizer(learning rate)
gradients = optimizer.compute gradients(tr cost)

train_op = optinizer.apply gradients(gradients)
tf,summary.scalar("cost", tr cost)
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NMT:Detalled:Encoder-Decoder:Decoder:Graph(step-6)
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NMT:Detailed(DB):Encoder-Decoder:Decoder:Graph(step-6)
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[0
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MC/A [0.415] 0517] weights,
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A dverage-deross—tnesteps=true;
1317 1423 average_across_batch=True,
0..] [0..] .
0] o) softmax_loss_function=None,
0..] 0.] name=None):
145 By if softmax_loss_function is None:
% A yhat,crossent = cross_entropy loss(logits,targets) -
with tf.nane_scope("optinizer"): 2 else: _ .
tr cost - sequence 10ss(1ogits. tr, targets,seq nasks) ' crossent = softl?ax loss function(labels=targets, logits=logits) |
1f average across_timesteps and average across batch: I

optimizer = tf.Tratn,GradtentDescentUptimzer{Tearning rate)
gradients = optinizer.compute gradients(tr cost)
train op = optinizer.apply gradients(gradients)

crossent = np.sum(crossent) i

total size = np.sum(weights)
total size += le-12

tf.sunmary.scalar("cost", tr_cost) crossent /= total size
. . return yhat, crossent; _ ____ __J
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NMT:Detalled:Encoder-Decoder:Decoder:Graph(step-7)

r_embeddings_matrix,en_embeddings_matrix,fr_word2int,en_word2int,fr_filtered,en filtered,args=get nmt_data()
et_modelparams(args)
rain_graph = tf.Graph()
ith train graph.as default():
input_data, targets, learning rate, dropout probs, en len, max _en len, fr_len = model inputs()
encoding _embed input, encoding op, encoding_st, rnn_inputs, decoding input,decoding_embed input, logits_tr = seg2seq_model(
tf.reverse(input_data, [-1T7T1
rgets,
dropout_probs,
fr_len,
en_len,
max_en_len,
len(en_word2int) + 1,
hidden_size,
n_layers,
en_word2int,
batch_size,
encoder_type,fr_embeddings matrix,en_embeddings matrix)

. L defuined
. hi{r@uj en A@){Vc@( Jevede o aeded
%& GCCURGZ-




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

